HRIOFERE - TGN - BIRL S HIHE OEE

__ _[Bkwl
ZFh P =)
HAHMGESHHERO T (TR AR/MNSZ (%) 1H1H8(K) 128308~138
R o) [(EE185E ] | GAEEE b)
— LS = 2025.1.1(K)[2023.1.1(H)
REEE X5 i )
& (C) Bean/BERE 20.4/14.6] 19.7/15.5
BEEED, O - =/ 60.1 60.1
7 —5EE(S "R B 75.2 75.2
alcAL (BkwW) |k LR AN N 65.5 65.5
EEHEE CKORKIDEE) =0 65.5 —
[ H18E]
. I)71 0.467
HHEEFABED [T1)75 0466
(kw / m) TU77 3 0.456
___[TU74 0.454
FHREZRQ IV 1~4EM8E) (M / kW) 0.970
o T)71 14.0
REZREE® [T175 35
- (kW) 1773 139
ApE¥kD T)74 Cxysa 10.5
HHEE | wheeme (LU21 6.3
Ty 2 N 1.6
(Akw)
3 TU77 3 T3 5.8
©=2x®x@ [Tijjg ) g 4.6
ErENEs (L)1 S A 0.3
& gﬁgi s “:7 A0T
TU7 3 ;T A 0.3
(BkW)  [Tj54 A0.1
=19 (OOIV7 1 ~40&35) + (ODIVF 1~4055) 17.6
- e A ™~ 0.27
DR{EE i‘f_jl”r‘_‘—_x\ B T ) ),T'_/ \ 076
(FFkW) W LT
(& U EIORE if=ye %S 0.20
i =D > j,_j 0.00
BAHD pXIRER ﬂji E Pgin 0.20
-~ e A Y 0.05
HAOME | wnmEE  [iEE \ A 0.11
e C g 0.05
Bkw) D i J/” e i
) b E 0.08
=10 @D A~EDS: 0.3
[aIBEE] | [MEREU]
(D),(D-1) FEENELTHOSNUDIER T DRELHE 41.3
RRASIRSL - (E) AN AE BB R 2.2
(Bkw) | TV7 [T(F) TR EE A A< X 0.5 | s Ea 4
7N [=KY12 é Eﬁal_bb
#ah (C-1) AEAD 17.6 HnEEs
A A-SEIE BNY _ 0.3 i
iy C2 _ EERe s 9.3
| ‘(7_13411 FHRT H® 71.3
IU7REQD 65.5
[aiBE] | [MBREU]
o (D-2)ENELTHEHUHRRTZRERESORALN + (D-3)HRI—-EVH © (FKW) 84.2
i~ ﬁ;'m BIROEAIETICHT SMREHEEDOEE @)
. ARk - ENMUBOIUPFRES = 100X (6+(E)+(F)+(G)-D)/D (%) | 32.8%
HEE IVU7#48H 510 71.3
(Akw) TU7EED 65.5
1A-IEIF HEFOHTE @)
rasg3 1 | (B),(b) MEEREAAMENSINEED =(B-Q) 5.8

BN EEHEERLES
Bl 1



HBIDBIEHEEI —)UTEDHIH, FHEIRR

(%1)=REH (a) RREFBOBFRMSHHERKL
(b) RRRTE DB RO SHNFIEIZH
(c) stiEERER) (5 — > (CR I GIFIEIRL

BEBEIN-IIICEDINE, AZE (1) 1818H(K)
BRAL BT SEEHO|FHEQ| 22 (@-0) | ZRIBH(X1)
(X2)RRBEHIFED T =R 0.0 5.5 5.5 (e)
FHENS. ABKWEE | AR EiR 10.3 10.3 0.0
ROFEFR (%2) Alll 10.3 10.3 0.0
EEHELTHSNU EOH (%3) 14.7 14.7 0.0
HHERIZREBRE| LN G SOEMGT 0.0 0.0 0.0
B(U1N) BEGE 0.0 0.5 0.5 0
CEL F CHED 1B 5.6 0.0 A 5.6 (e)
09”@?*")% =)l 0.0 0.0 0.0
Al BEBGT 1 0.0 0.0 0.0
BWEGT 2 0.0 0.0 0.0
allGT 1 0.0 0.0 0.0
&it 40.9 41.3 0.4 —
BEHBEIN-IIICEDIUN, A (2) 1H1H(K)
EEHELTHSM [ REFR S BB DO BT EQ| 28 (0-0) | ERIBH(K)
PEETIRERE] — IEREREL — — —
B (18K) it 0.0 0.0 0.0 —
BEHREIN-IIICEDIUN, AEE (3) 1H1H(K)
EHRINT = ESAEHO|HIHE - = X
Eﬁg%;:{ggggm —— 5 i Hol#iH _’r@@ ] g ®) #EIE_EE(X)
BEHREIN-IIICEDIUN, A (4) 1H1H(K)
e BELAD |z .
EEHELTHSHM *EBU EE;FE rﬂjjji_i"—.i()/o] HUEE+E® =R (0-0) ?IEEIEEE(X)
DRELTOBURE | TSR — =
ERES =
a5t 0.0 0.0 0.0 —
BEHREIN-IIICEDNF, AZE (5) 1H1HGK)
BIE 1 2 BB S
REAMILISERSGAEE — oBRD HIRAEEQ |22 (@-0) | ZERIEH(X)
CERIRER) R — —
BEBEIN-IIICEDINF, A2 (6) 1H1H(K)
SRURE
EEREASET HHO x4 |BIEETEQ| %2 (0-0) |Z=2EH(X%1)
A ARASHER [77%%]
x4 pEBMOMESLSE | 2.2 55 0.0
ZEULNH HORKE S [50%] ' '
BERBEN-VCEDIHF. B (7) 1A1H(K)
=10
EEast RELHIO |HIOER|2R @-© %i;%;?
MR AT R [ 15R%1 bdle
A E] — — — —
HiE R —[100%]] 0.5 —  [A(9),B(0),c(0)
BENER 1H1HK)
EeaL FHEOHEL
s [(ABE AL /BiHE 69.1%
|ERER s [(B)HE BAH /&R 42.5%
E T (OEHE B)/(A) 61.5%

9.3

(d) EERRER) (5 — > (CED<HIHIEIEMM
(e) EXiEm Iy bOBEEERT (CHSREER
(f) RERBEFOFRRACL ISR

(9) RFEECLBFLE

(GHEHEROEODIZY IS

(h) BRBRAICHESBOGHEDLHOFEBHILNHIK (k) HEAERE (EIRF) (CLBIMFIEIBHM

(i) HEMRER (ERF) [CLFMBISRD

(1) &EEHICEHT 3 HOFEEDORNIZY PO

B E E HEE RS
Bl 2

(m) REFRBOERHIHICHESHIHIEIENM

[B kwl



(&%) SHOFREE

12/ EAD
e 1818(X)
_ T ER AR 11F308 1285
S 20
Xz - KR =2 (O 20.5/14.7
B IV7RE 70.2
© FAERDELTHSNUDIERTDHRE R RS 47.7
(G) K 0.1
P G S\ AARZE FEBIR 2.2
;:" a; {i%i}jj ® sk &R/ (A AN R 0.5
mew T o KBk (IHESD) 20.9
TAaRIA Ah QEESD) 0.3
IU7 4G D5 71.7
mE e APt - SN A 15
#HahsEt 70.2

BHLBREEHEENLES

BIFE3
[F kW]

OFiaikin (A1) -HBOFTHERE (BIK3) OMA-IE

TUPRBE-TIYT7HRE N

(A) sHHEAR
BIU7E

(TU7FHE)

(C) ABBS-ES
(mEEaY)

(E) WA AXAEBEEIR
(D) %2
(F) sk &R/ 1 AT

(G) 7k

(TV7HsaHn x1)

%1 BRAEEIL—IVCE I DINHEIROTU a1,
X2 MBHELTHSNUDHERIZHEEREE /(A AVIERBREZZT,

HRE NDTESRIR S

OfFaNERIRR (BliK1) DIA-JE

(C) KBz - R

(D-1)

FHEHELTHSNC

DFEART BT
(1)

BFERFD
J=HRINTORX

(E) /\MAY
XEREEIR

(F) ithiziEs
IRINAATR

(G) 7K

(D-2)
% 2
(EALtE)

ABSHHIET

BLUE=IR

(%3)

OBEE (BlfK1) O A-IHE

BIOHHDINNEZTSBEELFIHES

mESEAACIESEED | o
________________ (C-2) 1ATFERFARE |
(C-1) XBz5%E-
B
(A) SHHBEARES
TUVHRE
(E) SAAATR S5 ER I (D) 2
(F) HI&ER/(AATR
(G) 7KH
(TUFE=E) (TUFHHEFI)




